

COLLEGE OF ENGINEERING, ARCHITECTURE AND TECHNOLOGY

Scholarship, Tuition Waiver and Grant Information for Freshmen and Transfer Students

FRESHMEN STUDENTS

General information for in-state and out of state students

Consideration and Criteria

- When you apply for admission to OSU, you are automatically considered for university and college specific scholarships
- Scholarship selection criteria vary, but can include academic performance, test scores, class rank, and your essay responses on the application for admission. Academic criteria are based on the cumulative unweighted GPA (4.0 scale)

Scholarship Deadlines

- October 1, 2022 Free Application for Federal Student Aid (FAFSA) applications open
 - https://studentaid.gov/
 - Awards are made until funds are depleted
- November 1, 2022 Early opportunity scholarship deadlinew
- February 1, 2023 Priority scholarship deadline
 - Applications received after February 1 may not be considered for all scholarship programs and will be considered only if funds remain.
- May 1, 2023 National College Decision Date
 - Some scholarships and financial aid must be accepted by May 1 or they may be cancelled
- August 18, 2023 Absolute scholarship deadline
 - Scholarship offers will not be made after this date

General Scholarship Notes

- The tuition scholarship normally applies to fall and spring terms only. Some restrictions, terms, and conditions apply.
- Scholarships awarded by other offices or organizations may be added to this total package, increasing the total scholarship award up to the cost of attendance. A student may only have one tuition scholarship in effect at any time.
- Students with unmet need (as determined by the FAFSA) will receive an additional \$250 or \$500 per year, depending on level of need
- OSU assured scholarships cannot be combined
- ACT and SAT scores are computed without the essay score
- Official ACT superscores provided by ACT will be accepted for scholarship consideration
- Students may only receive the highest value they are eligible for from the OSU Assured Scholarship or Partnered Scholarship categories

IN-STATE STUDENT SCHOLARSHIPS 2023-2024

OSU Assured Scholarships (any major) Four-year Partial Tuition Waivers

TEST SCORE	3.75-4.0 GPA*	3.5-3.74 GPA*	3.25-3.49 GPA*	3.0-3.24 GPA*
32-36 ACT OR 1420-1600 SAT	\$3,000 (\$12,000 4-year total)	\$2,500 (\$10,000 4-year total)	\$2,000 (\$8,000 4-year total)	\$2,000 (\$8,000 4-year total)
30-31 ACT OR 1360-1410 SAT	\$2,750 (\$11,000 4-year total)	\$2,250 (\$9,000 4-year total)	\$1,750 (\$7,000 4-year total)	\$1,750 (\$7,000 4-year total)
28-29 ACT OR 1300-1350 SAT	\$2,500 (\$10,000 4-year total)	\$2,000 (\$8,000 4-year total)	\$1,500 (\$6,000 4-year total)	\$1,500 (\$6,000 4-year total)
26-27 ACT OR 1230-1290 SAT	\$2,250 (\$9,000 4-year total)	\$1,750 (\$7,000 4-year total)	\$1,250 (\$5,000 4-year total)	\$1,250 (\$5,000 4-year total)
24-25 ACT OR 1160-1220 SAT	\$2,000 (\$8,000 4-year total)	\$1,500 (\$6,000 4-year total)	\$1,000 (\$4,000 4-year total)	\$1,000 (\$4,000 4-year total)
NO TEST SCORE REPORTED	\$1,000 (\$4,000 4-year total)	\$1,000 (\$4,000 4-year total)	\$750 (\$3,000 4-year total)	*unweighted GPA

PARTNERED SCHOLARSHIPS

Oklahoma's Promise & Cowboy Covenant

Oklahoma's Promise

Offers qualified students full tuition at OSU

Requirements

- Oklahoma resident and enroll during the 8th -11th grade
- A student whose parents' federal adjusted gross income does not exceed:
 - \$60,000 with 1 or 2 dependent children OR
 - \$70,000 with 3 or 4 dependent children OR
 - \$80,000 with 5 or more dependent children

Visit https://www.okhighered.org/okpromise/ to apply, learn more, and for a full list of student requirements

Cowboy Covenant

Offers Oklahoma's Promise recipients an additional \$1,000 cash award per year (up to four years or 120 credit hours attempted, whichever comes first) in addition to any other OSU scholarships awarded.

Requirements

- Oklahoma's Promise recipient
- Eligible for Oklahoma's Promise payment each semester File the FAFSA each academic year
- Enroll as a full-time undergraduate student in the fall and spring semesters

Oklahoma State Regents for Higher Education (OSHRE)

OSHRE Academic Scholar Program Institutional Nominee

(4-year cash award and 5-year tuition waiver up to \$41,100 total package) OSU nominates 45 students annually.

Qualifications

- At least a 32 ACT composite score (or 1420 SAT) on a national test, AND a 3.5 unweighted high school GPA; OR
- At least a 3.9 unweighted high school GPA AND top 2% ranking in high school graduating class or rank of #1 or #2; OR
- At least a 3.9 unweighted high school GPA AND at least a 30 ACT composite score (or 1360 SAT)

OSU recipients tend to be students who apply early, have at least a 33 ACT and a 3.9 unweighted GPA.

OSHRE Academic Scholar Program Automatic Qualifier

(4-year cash award and 5-year tuition waiver up to \$51,100 total package)

Qualifications

• The minimum criteria to qualify is scoring at or above the 99.5 percentile on the ACT or SAT. For Fall 2023, the required total ACT skill area sum score is 137 or SAT critical reading and math skill area sum score of 1520.

National Merit Scholar Program

(1 to 4-year cash awards and 5-year tuition waiver up to \$70,100 total package) https://www.nationalmerit.org

Qualifications

 National Merit finalists who name OSU as their first choice with the National Merit Scholarship Corporation

OUT-OF-STATE STUDENT SCHOLARSHIPS 2023-2024

OSU Assured Scholarships (any major) Four-year Partial Tuition Waivers

TEST SCORE	3.75-4.0 GPA*	3.5-3.74 GPA*	3.25-3.49 GPA*	3.0-3.24 GPA*
30-36 ACT OR 1360-1600 SAT	\$13,000 (\$52,000 4-year total)			
27-29 ACT OR 1260-1350 SAT	\$12,000 (\$48,000 4-year total)	\$12,000 (\$48,000 4-year total)	\$12,000 (\$48,000 4-year total)	\$12,000 (\$48,000 4-year total)
25-26 ACT OR 1200-1250 SAT	\$11,000 (\$44,000 4-year total)			
24 ACT OR 1160-1190 SAT	\$10,000 (\$40,000 4-year total)	\$10,000 (\$40,000 4-year total)	\$10,000 (\$40,000 4-year total)	\$10,000 (\$40,000 4-year total)
NO TEST SCORE REPORTED	\$8,000 (\$32,000 4-year total)	\$7,000 (\$28,000 4-year total)	\$6,000 (\$24,000 4-year total)	*unweighted GPA

Alumni Legacy Scholarship

is available to students whose parents or grandparents graduated from OSU (4-year partial tuition waiver, \$5,000 per year, up to \$20,000 total)

PARTNERED SCHOLARSHIPS

Oklahoma State Regents for Higher Education (OSHRE)

OSHRE Academic Scholar Program Institutional Nominee

(4-year cash award and 5-year tuition waiver up to \$91,600 total package) OSU nominates 45 students annually.

Qualifications

- At least a 32 ACT composite score (or 1420 SAT) on a national test, AND a 3.5 unweighted high school GPA; OR
- At least a 3.9 unweighted high school GPA AND top 2% ranking in high school graduating class or rank of #1 or #2; OR
- At least a 3.9 unweighted high school GPA AND at least a 30 ACT composite score (or 1360 SAT)

OSU recipients tend to be students who apply early, have at least a 33 ACT and a 3.9 unweighted GPA.

COLLEGE OF ENGINEERING, ARCHITECTURE& TECHNOLOGY SCHOLARSHIPS

PROGRAM	REQUIREMENTS	CEAT SCHOLARSHIP VALUE	DESCRIPTION	DEADLINE
CEAT SCHOLARS PROGRAM	3.9 GPA (unweighted) or 3.5+ GPA and 31+ ACT/1390+ SAT, complete short answer leadership question and interview with CEAT faculty	\$15,000 4 yr total package	4 yr. award with \$3,000 annual scholarship, paid enrichment and travel. Up to 100 selected annually. Qualified for OSU assured awards	Nov. 1
W.W. ALLEN SCHOLARS PROGRAM	32 ACT or 1420 SAT 3.75 GPA (unweighted), Demonstrated leadership, majoring in engineering, complete additional essay questions on the student application portal and interview	\$105,000 4 yr total package	4 yr. award with \$8,500 annual scholarship, paid enrichment and travel + Full tuition and housing for a Master of Philosophy at the University of Cambridge in the UK. 2 selected annually. Qualified for OSU assured awards.	Nov. 1
BOYS & GIRLS CLUB SCHOLARS PROGRAM	No set GPA requirement, but preference given to students with at least a 3.0, Active Boys and Girls Club member and/or volunteer, demonstrated leadership. Must submit additional essay questions on the student application portal and interview	\$64,000 4 yr total package	4 yr. award with \$15,000 annual scholarship, paid enrichment and travel. Only 1 selected each year, Qualified for OSU assured awards	Feb. 1
STEM SCHOLARSHIP	3.25 GPA (unweighted) Involvement in STEM Academy, PLTW, or Pre-Engineering courses, majoring in engineering. Must submit a letter of recommendation on the student application portal	\$10,000 4 yr total package	4 yr. award starting at \$1,000 and increasing by \$1,000 each year, totaling \$10,000. Up to 15 selected annually. Qualified for OSU assured awards	Feb. 1
FIRST ROBOTICS	3.25 GPA (unweighted), involvement in FIRST Robotics, majoring in engineering and must submit a letter of recommendation on the student application portal	\$1,000	One year scholarship available to 20 freshman recipients each year. Qualified for OSU assured award	Feb. 1
FRESHMAN RESEARCH SCHOLARS	3.5 GPA (unweighted), motivated, intellectually curious and have a strong work ethic. Submit additional information on the student application portal	\$1,000	OSU & CEAT partnered scholarship providing 24 CEAT freshmen the opportunity to engage in cutting-edge research under the guidance of faculty researchers. Qualified for OSU assured awards	Feb. 1
NACME SUMMER BRIDGE SCHOLARS	24 ACT or 1160 SAT 3.0 GPA (unweighted), identify as an underrepresented minority, majoring in engineering and attend CEAT Summer Bridge	\$1,000	Freshman scholarship with the potential to be renewed up to 4 yrs. with acceptance into the NACME Scholars Program which increases the award to \$2,500 annually. 5 new awards annually. Qualified for OSU assured awards	Feb. 1
ACADEMIC DEPARTMENT SCHOLARSHIPS	Based on major indicated on OSU admission application, selection may be based on test scores, GPA, leadership and community service	Varied by CEAT & Departments	Value & terms vary by donor criteria. Over 200 incoming freshman selected each year	Feb. 1

National Merit Scholar Program

(1 to 4-year cash awards and 5-year tuition waiver up to \$147,700 total package) https://www.nationalmerit.org

Qualifications

 National Merit finalists who name OSU as their first choice with the National Merit Scholarship Corporation

OSU COMPETITIVE CASH SCHOLARSHIPS

President's Leadership Council (PLC) Scholarship

(1-year cash award, \$1,500), students serve on the President's Leadership Council **Qualifications**

• Strong leadership and community service on application

President's Distinguished Scholarship

(4-year cash award, \$2,500 per year, up to \$10,000 total)

Qualifications

- Minimum 27 ACT or 1260 SAT
- Minimum 3.75 unweighted GPA
- Strong record of leadership on application

TRANSFER STUDENTS

General information for in-state and out-of- state transfer students

- All incoming undergraduate transfer students who are admitted to OSU are automatically considered for scholarships
- Scholarship selection criteria vary, but can include number of transfer credits earned as well as college GPA
- Students may receive one tuition waiver/scholarship and will receive the waiver/scholarship that provides the greatest benefit

In-State Students

Regents Distingueshed Transfer Scholarship

(3-year cash award, \$2,500 per year, up to \$7,500 total)

Requirements

- Oklahoma resident
- 7-23 transferable credit hours
- 3.25 college GPA

Transfer Out-of-State Achievement Scholarship

(2-year cash award, \$2,500 per year, up to \$5,000 total)

Requirements

- Oklahoma resident
- 24+ transferable credit hours
- 3.25 college GPA

Out-of-State Students

Transfer Out-of-State Achievement Scholarship

(3-year renewable cash award, \$7,000 per year, up to \$21,000 total)

Requirements

- 7-23 transferable credit hours
- 3.25 college GPA

Transfer Out-of-State Achievement Scholarship

(2-year renewable cash award, \$7,000 per year, up to \$14,000 total)

Requirements

- 24+ transferable credit hours
- 3.25 college GPA

Transfer Out-of-State Legacy Achievement Scholarship

(3-year renewable cash award, \$7,000 per year for 2 years, \$5,000 for year 3, up to \$19,000 total)

Requirements

- Out-of-state students whose parents or grandparents graduated from OSU
- 24+ transferable credit hours
- 3.25 college GPA

Transfer Out-of-State Legacy Scholarship

(3-year renewable cash award, \$5,000 per year, up to \$15,000 total)

Requirements

• Out-of-state students whose parents or grandparents graduated from OSU

COLLEGE OF ENGINEERING, ARCHITECTURE & TECHNOLOGY SCHOLARSHIPS

PROGRAM	REQUIREMENTS	CEAT SCHOLARSHIP VALUE	DESCRIPTION	DEADLINE
ACADEMIC DEPARTMENT SCHOLARSHIPS	application, selection may be based on test	Varied by CEAT & Departments	Value & terms vary by donor criteria. Over 200 incoming freshman selected each year	Feb. 1

ACADEMIC COMMON MARKET

The Academic Common Market is an affordable way to attend college and pursue a degree that is not offered in your home state. **Out-of- state students from participating states can enroll at Oklahoma State University and pay the instate tuition rate**. OSU has a number of popular programs available for residents of participating states. Visit the higher education agency in your state to see if you may be eligible for in-state tuition while pursuing that program at OSU.

GRANTS

A grant is a type of gift aid that does not require repayment. Need-based grants are determined by the information you provide on the FAFSA.

Pell Grant
Federal Supplemental Educational
Opportunity Grant
Oklahoma Tuition Aid Grant

Oklahoma's Promise Cowboy Covenant Iraq and Afghanistan Service Grant Fallen Heroes Scholarship

FAFSA

The Free Application for Federal Student Aid (FAFSA) is used to determine federal aid for college and graduate school.

www.studentaid.gov

Applications open Oct 1 and awards are made until funds are depleted. OSU school code: 003170

CONTACT



Scholarships and Financial Aid 405.744.6604

finaid@okstate.edu

https://finaid.okstate.edu

CEAT Scholarships 405.744.2446

ceatscholarships@okstate.edu

https://ceat.okstate.edu/scholarships

COST WORKSHEET

This worksheet can provide an estimate of your net price for attending Oklahoma State University. This is done by taking the estimated cost of attendance, includind tuition and required fees, books and supplies, housing and meals, and other related expenses, and subtracting your etimated grant and scholarship aid. The estimate provided does not represent a final net price. Cost of attendance and financial aid availability are subject to change each year.

DIRECT OSU COST (2 semesters: 15 hours each)	MY ESTIMATE	IN-STATE ESTIMATE
Tuition and Fees (Estimate based on 15 cedit hours per semester)	\$	\$13,920
Use the Burs	ar's Estimator at bursar.okstate.edu/tui	tion-estimate
Books and Supplies	\$	\$1,300
Housing and Meals	\$	\$10,640
On campus room rates at reslife.okstate	e.edu/housing/rates On campus meal plar	rates at dining.okstate.edu/meal-plans
Total Direct and Other Educational Expenses	\$	\$25,860
Transportation	\$	\$2,140
Auto fuel/basic maintenance	\$	
Auto insurance	\$	
Other	\$	
Personal/Miscellaneous	\$	\$3,260
Clothing	\$	
Laundry	\$	
Toiletries/household products	\$	
Healthcare (medical/dental)	\$	
Haircuts/personal care	\$	
Basic phone/internet access	\$	
Other	\$	
Total Other Educational Expenses	\$	\$5,400
Total Direct and Other Educational Expenses	\$	\$31,260

FUNDING STRATEGY

TYPE OF FUNDING	AMOUNT (FOR 2 SEMESTERS)
Scholarships (including tuition waivers)	\$
	\$
	\$
	\$
Grants (federal/state)	\$
	\$
	\$
	\$
Parent Savings	\$
Student Savings	\$
Part-Time Employment	\$
Parent Loan	\$
Student Loan(s)	\$
	\$
OSU Payment Option Plan	\$
Other (graduation gifts, etc.)	\$
Total	\$

General information for in-state and out-of- state transfer students

- Chose a less expensive housing option. The price differences between community-style residence halls and suites or a private room and a shared room can add up quickly.
- Make the most of your meal plan. Save eating off-campus for special occasions and keep rack of your rollover amounts each semester.
- Buy used textbooks, if possible. Be sure you know the stores return and buyback policies on textbooks.
- **Avoid parking tickets.** Take advantage of OSU's bus system on campus and around Stillwater. You can also try bringing a bicycle to campus.
- Keep track of charges you make. Treat your student ID card like a bank card.
 Review your OSU studentaccount online at leat once a week.
- Limit how much you spend on optional items. Create a budget and set spending limits for yourself.